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QUESTION 1

If a Cisco ARC cluster is fully operational, how many replica copies does each shard have in addition to the leader
replica?

A 4
B.3
C.1
D.2

Correct Answer: B

QUESTION 2

Which packets are counted after the atomic counters are configured?
A. packets that are switched in the hypervisors

B. packets that are locally switched

C. packets that are switched via AVS

D. packets that traverse the fabric

Correct Answer: A

QUESTION 3

Which two statements about when the ARP request/response is not set to flooding on an Cisco ACI Fabric are true?
(Choose two.)

A. Static endpoint entries can be configured under the Tenant Networking section of the Cisco ACI Ul for silent hosts to
communicate with each other.

B. When the ARP originator and ARP target are known to the proxy, forwarding can no longer occur using the proxy
because the source and destination are now known

C. When an ARP target device responds, a response is sent to the proxy, which has an entry (or the ARP originator, so
it is then forwarded to the leaf where ARP originator resides.

D. When ARP response is known by the proxy, the ARP is forwarded from the leaf that received the ARP to the spine,
and onto the leaf where the ARP target resides.

E. The proxy age time has no limit If the target of the ARP has not sourced a frame for some lime, the entry remains
indefinite because this i$ the only way forwarding can work between silent hosts.

Correct Answer: CE
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QUESTION 4

Which option describes how to clear a fault from the Cisco ARC after it has been generated?
A. Faults are raised and cleared automatically by the system.

B. Faults can be "acknowledged" only after the fault is in the "soaking" state.

C. Faults can be "acknowledged," which means it is immediately cleared from the system.

D. Faults are cleared only after the log is full, so the oldest faults are deleted.

Correct Answer: C

QUESTION 5

Refer to the exhibit

shell:domains = domain / Rolel | Role2 | Role3 / Role4 | Role5 | Role6
In the Cisco AV Pair, which two options are correct? (Choose two.)

A. Rolel = Read

B. Role2 = Read

C. Role5 = Write

D. Role2 = Write

E. Role6 = Write

F. Rolel = Write

Correct Answer: AE
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